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Tnpsc group I / ii preliminary  

WEEKly TEST 2 OF February, 24 
 
1. Which one of the following is not a problem in estimating the National 

Income of India? 
a. Double counting  b. Unreliable data 
c. Unaccounted income d. Large number of enterprises 
e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpahtpy; Njrpa tUkhdj;ij mstpLtjpy; rpf;fy; 
my;yhj xd;W vJ? 
a.,UKiw fzf;fpLtJ    
b. ek;gj;jfhj Gs;sp tptuq;fs; 
c. fzf;fpy; fhl;lg;glhj tUtha;  
d. mjpf vz;zpf;ifapyhd epWtdq;fs; 
e. tpil njhpatpy;iy 

 
2. Which of the following is incorrect? 

a. GDP at market price= GDP at factor cost plus net indirect taxes 
b. NNP at factor cost = NNP at market price minus net indirect taxes 
c. GNP at market price = GDP at market price plus net factor income from 

abroad 
d. None of the above 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;wpy; vJ jtwhdJ? 
a. re;ij tpiyapy; nkhj;j cs;ehl;L cw;gj;jp = fhuzp nrytpy; nkhj;j 

cs;ehl;L cw;gj;jp + epfu kiwKf thpfs;  
b. fhuzp nrytpy; epfu Njrpa cw;gj;jp = mq;fhb tpiyapy; epfu ehl;L 

cw;gj;jp – epfu kiwKf thpfs;  
c. re;ij tpiyapy; nkhj;j Njrpa cw;gj;jp = re;ij tpiyapy; nkhj;j 

cs;ehl;L cw;gj;jp + nkhj;j ntspehl;by; ,Ue;J tUk; epfu tUkhdk;  
d. Nkw;$wpa vJTk; ,y;iy  
e. tpil njhpatpy;iy 

 
3. The Government Final Consumption Expenditures (GFCE) comprises of 

the followings: 
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i. Revenue expenditure 
ii. Gross purchase of goods and services 
iii. Consumption of fixed capital 
iv. Consumption of variable capital 
Select the correct one combination 
a. i and ii only   b. i and iii only        c. ii and iii only  
d. i and iv only   e. Answer not known 
murhq;fj;jpd; ,Wjp Efh;T nryT (GECF) gpd;tUtdtw;iw cs;slf;fpaJ 
i. tUtha; nrytpdq;fs; 
ii. nghUs;fs; kw;Wk; Nritfspd; nkhj;j nfhs;Kjy; 
iii. epiyahd %yjd Efh;T 
iv. khWk; %yjd Efh;T 
rhpahdtw;iw Njh;e;njL. 
a. (i) kw;Wk; (ii) kl;Lk; b. (i) kw;Wk; (iii) kl;Lk;  
c. (ii) kw;Wk; (iii) kl;Lk; d. (i) kw;Wk; (iv) kl;Lk;   
e. tpil njhpatpy;iy 

 
4. Which of the following is incorrectly paired? 

1. GNI – Gross National Income  
2. GDP – Gross Domestic Property 
3. HDI – Human Development Index 
4. HDR – Human Development Report 
a. 3  b. 1  c. 2  d. 4  e. Answer not known 
vJ jtwhfg; nghUj;jg;gl;Ls;sJ? 
1. GNI – epfu Njrpa tUtha;  
2. GDP – epfu cs;ehl;L nrhj;J  
3. HDI – kdpj tsh;r;rp FwpaPL  
4. HDR – kdpj tsh;r;rp mwpf;if  
a. 3  b. 1  c. 2  d. 4  e. tpil njhpatpy;iy 

 
5. The National Income in India was first estimated by 

a. William Digby b. Dadabhai Naoroji  c. Findlay Shirras  
d. V.K.R.V. Rao  e. Answer not known 
,e;jpahtpy; Njrpa tUthia Kjd; Kjypy; fzf;fPL nra;jth; 
a. tpy;ypak; jpf;ig b. jhjhgha; nesNuh[p c. /gpd;Ny rpuh]; 
d. V.K.R.V. uht;  e. tpil njhpatpy;iy 

 

6. Match List I (variable) with List II (measures): 
List I       List II 
A. Rapid growth of income  1. Gini coefficient 
B. Greater inequality in income  2. Gross state domestic product per  
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capita distribution 
C. Greater regional imbalance  3. GDP 
D. High level of aggregate output 4. Average annual rates of growth of  
gpd;tUk; ml;ltizapy; nfhLf;fg;gl;L FwpaPLfis gad;gLj;jp 
rhpahd tpilapid  
ml;ltiz- I (khwpyp) cld; ml;ltiz-II (msTfs;)-I nghUj;Jf 
ml;ltiz I     ml;ltiz II 
A. mjpf msT tUtha; tsh;r;rp 1. fpdp Fzfk; 
B. tUtha; gfph;tpy; mjpf ghFghL 2. nkhj;j khepy cs;ehl;L 

jyh cw;gj;jp 
C. mjpf gpuhe;jpa Vw;wj;jho;T  3. nkhj;j cs;ehl;L cw;gj;jp 
D. mjpf msT nkhj;j tUtha;  4. nkhj;j cs;ehl;L 

cw;gj;jp kw;Wk; cw;gj;jpapd; 
tUlhe;jpu tsh;r;rp tPjk; 

A B C D 
a. 2  4  1  3 
b.  4  1  2  3 
c.  4  1  3  2 
d. 2  3  2  4 
e. tpil njhpatpy;iy 

 
7. World’s first Malaria Vaccine approved by WHO in African countries is 

______ 
a. RTS, S / ASO1  b. CERVAVAC   c. Matrix-M 
d. Both a & c   e. Answer not known 
Mg;gpupf;f ehLfspy; WHO My; mq;fPfupf;fg;gl;l kNyupah jLg;G+rp 
_________ 
a. RTS, S / ASO1  b. CERVAVAC   c. Matrix-M 
d. a & c ,uz;Lk;   e. tpil njhpatpy;iy 

 
8. The objectives of RBI’s Monetary policy are  

I. Price stability   II. Tax rate   III. Social justice 
Select the correct answer by using the codes given below: 
a. I alone is correct  b. I and II are correct c. I and III are correct 
d. I, II and III are correct e. Answer not known 
,e;jpa hprh;t; tq;fp gzf; nfhs;ifapd; Nehf;fq;fs; 
I. tpiy epiyg;gLj;Jjy; II. thp tpfpjk;  III. r%f ePjp 
FwpaPLfisg; gad;gLj;jp rhpahd tpiliaj; njhpT nra;f: 
a. I kl;Lk; rhp    b. I kw;Wk; II kl;Lk; rhp  
c. I kw;Wk; III kl;Lk; rhp  d. I, II kw;Wk; III kl;Lk; rhp   
e. tpil njhpatpy;iy 
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9. The Monetary Policy of the Government of India emphasised the following 
two aims of the economic policy 
i. To control and reduce inflationary pressure in the economy. 
ii. Speed up economic development in the country to raise national 

income and standard of living of the people. 
iii. To have a deal money policy 
iv. To have a cheap money policy. 
Select the correct answer by using the codes given below: 
a. (i) and (iii) are correct  b. (i) and (ii) are correct  
c. (ii) and (iii) are correct  d. (iii) and (iv) are correct   
e. Answer not known 
,e;jpa murpd; gzf; nfhs;ifahdJ nghUshjhuf; nfhs;ifapd; gpd;tUk; 
,uz;L Nehf;fq;fis typAWj;Jfpd;wJ. 
i. nghUshjhuj;jpy; gztPf;f mOj;jj;ijf; fl;Lg;gLj;jTk; 

Fiwg;gjw;Fk;. 
ii. Njrpa tUkhdk; kw;Wk; kf;fspd; tho;f;if juj;ij cah;j;j ehl;bd; 

nghUshjhu tsh;r;rpia tpiuTgLj;j. 
iii. mUk;gzf;nfhs;iff;fhf 
iv. kypTg; gzf;nfhs;iff;fhf 
FwpaPLfisg; gad;gLj;jpr; rhpahd tpil fhz;f. 
a. (i) kw;Wk; (iii) rhpahdit b. (i) kw;Wk; (ii) rhpahdit 
c. (ii) kw;Wk; (iii) rhpahdit. d. (iii) kw;Wk; (iv) rhpahdit 
e. tpil njhpatpy;iy 

 
10. The function/s of Reserve Bank of India are: 

1. Issue of currency  2. Banker to Government 
3. Banker's Bank  4. Exchange Management and Control  
a. l only    b. 2 only   c. 2 and 4 only    
d. 1, 2, 3 and 4   e. Answer not known 
,e;jpa hprh;t; tq;fpapd; nray;ghL / nray;ghLfshtd:  
1. fhfpjg;gzk; ntspaPL  2. murhq;fj;jpd; tq;fpahsh; 
3. tq;fpfspd; tq;fpahsh;  4. ghpkhw;w Nkyhz;ik kw;Wk; fl;LghL  
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 2 kw;Wk; 4 kl;Lk; 
d. 1, 2, 3 kw;Wk; 4   e. tpil njhpatpy;iy 

 

11. What are the Non-Monetary functions of  the RBI? 
A. Control of Bank Credit   
B. Control of foreign exchange operation 
C. Licensing of Banks   
D. Deposit insurance scheme 
a. (A) and (B)   b. (B) and (C)   c. (C) and (D) 
e. (A) and (D)   e. Answer not known 
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,e;jpa hprh;t; tq;fpapd; gzk; rhuhj gzpfs; ahit? 
A. tq;fpfspd; flid fl;Lg;gLj;Jjy; 
B. me;epa nryhtzp ghpkhw;wj;ij fl;Lg;gLj;Jjy; 
C. tzpf tq;fpfSf;F chpkk; mspj;jy; 
D. itg;G fhg;gPl;L jpl;lk;  
a. (A) kw;Wk; (B)  b. (B) kw;Wk; (C)  c. (C) kw;Wk; (D) 
d. (A) kw;Wk;  (D)   e. tpil njhpatpy;iy 

 
12. Repo rate means 

a. Rate at which the Commercial Banks are willing to lend to RBI 
b. Rate at which the RBI is willing to lend to commercial banks 
c. Exchange rate of the foreign bank 
d. Growth rate of the economy 
e. Answer not known 
nug;Ngh tpfpjk; vd;gjd; nghUs; 
a. tzpf tq;fpfs; hprh;t; tq;fpf;F mspf;Fk; flDf;fhd tl;b tpfpjk; 
b. hprh;t; tq;fp tzpf tq;fpfSf;F mspf;Fk; flDf;fhd tl;b tpfpjk; 
c. me;epa nryhtzp khw;W tpfpjk; 
d. nghUshjhu tsh;r;rp tpfpjk; 
e. tpil njhpatpy;iy 

 
13. Choose incorrect pair 

a. FAO – 1945 – Rome b. IFAD – 1975 – Rome  
c. WFP – 1961 – Rome d. None of these 
e. Answer not known 
jtwhd ,iziaf; fhz;f 
a. FAO – 1945 – Nuhk;  b. IFAD – 1975 – Nuhk; 
c. WFP – 1961 – Nuhk;  d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 

 
14. The sources of Non-Tax Revenue are 

I. Earnings from public enterprises  II. Escheats 
III. Sales tax      IV. Cess 
From the above which are correct answers? 
a. II and III  b. I and IV     c. I and II   
d. III and IV  e. Answer not known 
thp rhuh tUthapd; Mjhuq;fshtd: 
I. nghJj; Jiw epWtdq;fspd; tUtha;fs;  II. kuz jPh;it 
III. tpw;gid thp       IV. nr]; 
NkNy fz;ltw;Ws; vit rhpahd tpilfs;? 
a. II kw;Wk; III  b. I kw;Wk; IV   c. I kw;Wk; II   
d. III kw;Wk; IV  e. tpil njhpatpy;iy 
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15. The length of a rectangle is increased by 60%, By what percent would the 
breadth have to be decreased to maintain the same area?  
xU nrt;tfj;jpd; ePsk; 60% mjpfhpf;fg;gLfpwJ mNj gug;gstpy; 
,Ug;gjw;fhf mfyj;ij vj;jid rjtPjk; Fiwf;f Ntz;Lk;?  
a. 37.5% b. 40.5% c. 35% d. 21.5%  e. Answer not known 

 
16. Assertion (A): Though able to win, let not one desire gambling 

Reason (R): Gamblers gain one item in the gamble and lose a hundred 
times as much 
a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
$w;W (A): ntw;wpNa ngWtjhdhYk; #jhl;lj;ij tpUk;gf; $lhJ  
fhuzk; (R): #jhbfs; #jpy; xU nghUs; ngw;W E}Wklq;F nghUis 
,oe;JtpLth; 
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fkhFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fky;y  
c. (A) jtW Mdhy; (R) rhp  
d. (A) kw;Wk; (R) ,uz;Lk; jtW  
e. tpil njhpatpy;iy  

 
17. Vivad Se Vishwas scheme is related to 

a. Direct tax     b. Indirect tax   c. Both 
d. Neither direct tax not indirect tax e. Answer not known 
tpthj; Nr tp];th]; jpl;lk; vjDld; njhlh;GilaJ? 
a. Neub thp     b. kiwKf thp  c. ,uz;Lk;  
d. (A) kw;Wk; (B) ,uz;Lkpy;iy  e. tpil njhpatpy;iy 

 
18. Which tax is the different one? 

a. Wealth Tax   b. Income Tax  c. Corporate Tax 
d. Stamp duty   e. Answer not known 
fPo;f;fz;ltw;wpy; khWgl;l thp vJ? 
a. nrhj;J thp   b. tUkhd thp  c. epWtd thp 
d. Kj;jpiuj; jhs; thp e. tpil njhpatpy;iy 

 

19. Which of the following are the instruments of fiscal policy? 
1. Bank rate   2. Pubic Expenditure 
3. Taxation   4. Public debt 
a. 1, 2 and 3 only   b. 2, 3 and 4 only  c. 1, 3 and 4 only 
d. 1, 2, 3 and 4   e. Answer not known 
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fPo;fz;ltw;Ws; epjpf; nfhs;ifapd; fUtpfs; ahit? 
1. tq;fp tPjk;   2. nghJr; nryT 
3. thptpjpg;G   4. nghJf;fld; 
a. 1, 2 kw;Wk; 3 kl;Lk;  b. 2, 3 kw;Wk; 4 kl;Lk;  c. 1, 3 kw;Wk; 4 kl;Lk;  
d. 1, 2, 3 kw;Wk;  4  e. tpil njhpatpy;iy 

 
20. “The concept of national income is an indispensable preparation for 

tackling the great issues of unemployment inflation and growth”. Who 
said this? 
a. Robertson  b. Samuelson   c. Ronald Fisher  
d. J.M. Keynes  e. Answer not known 
“ngupa gpur;ridfshd Ntiytha;g;G,d;ik> gztPf;fk; kw;Wk; tsu;r;rp 
Mfpatw;iw rkhspg;gjw;fhf jahupf;fg;gl;l jtpu;f;f Kbahj jahupg;Ng 
Njrpa tUtha; vDk; fUj;JU” vd;W $wpatu; ahu;? 
a. uhgu;l;rd;   b. rhKNty;rd;   c. nuhdhy;L gp~u; 
d. J.M. fPd;];  e. tpil njhpatpy;iy 

 
21. Consider the following statements. 

I. GDP is the value of net output of the economy during the year. 
II. GDP by expenditure method at market prices = C + I + G + (X - M). 
a. I, II are correct  b. I is correct   c. II is correct  
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. nkhj;j cs;ehl;L cw;gj;jp vd;gJ nghUshjhuj;jpy; Xu; Mz;bd; epfu 

ntspaPl;bd; kjpg;ghFk;. 
II. nryT Kiwg;gb re;ijtpiyapy; nkhj;j cs;ehl;L cw;gj;jp (GDP) 

= C + I +G + (X - M) 
a. I, II rup    b. I kl;Lk; rup   c. II kl;Lk; rup  
d. I, II jtW   e. tpil njhpatpy;iy 

 

22. Consider the following statement 
1. 23rd SCO Summit held virtually in 2023 
2. India – head of 23rd SCO 
3. Theme of the Summit is “Towards a SECURE SCO” 
4. Iran gained full membership in 23rd SCO Summit 
a. 2, 4 are correct  b. 1, 2, 3 are correct  c. 1, 2, 4 are correct 
d. All are correct  e. Answer not known 
gpd;tUtdtw;iw Ma;f 
1. 2023Mz;L 23tJ SCO cr;rpkhehL nka;epfh; tbtj;jpy; eilngw;wJ 
2. ,e;jpah – 23tJ SCO tpd; jiyik tfpj;j ehL 
3. khehl;bd; ikaf;fU – Towards a SECURE SCO 
4. 23tJ SCO cr;rp khehl;by; <uhd; KO cWg;gpduhf cs;sJ 
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a. 2> 4 rhp   b. 1> 2> 3 rhp   c. 1> 2> 4 rhp 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
23. Consider the following statements. 

Assertion (A): Personal income is never equal to the national income. 
Reason (R): Personal income includes the transfer payments 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):  jdpegu; tUkhdk; Njrpa tUkhdj;jpw;F rkkhf ,Uf;fhJ. 
fhuzk; (R): khw;W nrYj;Jjy;fs; jdpegu; tUkhdj;NjhL  
   Nru;f;fg;gLfpwJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 

24. Which of the following statements is/are incorrect? 
i. Per capita income = National income / population 
ii. Real income is the buying power of the nominal income. 
iii. National income is the Final Value of goods and Services Produced 

and expressed in terms of money at Market prices. 
a. i only b. ii and iii only   c. iii only    d. none e. Answer not known 
gpd;tUk; $w;Wfspy; jtwhdit vit? 

i. jyhtUkhdk; = Njrpa tUkhdk;

kf; fs; njhif
 

ii. cz;ik tUkhdk; vd;gJ thq;Fk; rf;jpf;fhd ngausT tUkhdk; 
MFk;. 

iii. Njrpa tUtha; vd;gJ xU Mz;by; cw;gj;jp nra;ag;gl;l KbTw;w 
gz;lq;fs; kw;Wk; gzpfspd; nkhj;j gzkjpg;ig re;ij tpiyapy;; 
kjpg;gpLtjhFk;. 

a. i kl;Lk;   b. ii kw;Wk; iii kl;Lk;  c. iii kl;Lk;    
d. VJkpy;iy  e. tpil njhpatpy;iy 

 

25. Who had classified the public expenditure on the basis of benefit? 
a. Adam Smith   b. Cohn and Plehn  c. Hugh Dalton  
d. Hayek    e. Answer not known 
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nghJr;nryit ed;ikapd; mbg;gilapy; tifg;gLj;jpatu;? 
a. Mlk; ];kpj;   b. fhd; kw;Wk; gpspd;  c. `_f; lhy;ld;  
d. N`af;    e. tpil njhpatpy;iy 

 
26. Which of the following statements about tax is/are correct?  

i. It is a compulsory payment by the citizens to the government to meet 
the public expenditure. 

ii. It is legally imposed by the government on the tax payer. 
iii. Refusal to pay is not the punishable offence. 
a. i, ii  b. i, iii c. ii only d. i, ii, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; tupfs; gw;wp rupahdit vit? 
i. ,J nghJ nrytpw;fhf Fbkf;fs; fl;lhakhf nrYj;jf;$baJ. 
ii. ,J murhy; rl;lg;gb tup nrYj;JNthu; kPJ tpjpf;fg;gLfpwJ. 
iii. tup nrYj;j kWg;gJ jz;lidf;Fupa Fw;wky;y. 
a. i, ii  b. i, iii c. ii kl;Lk; d. i, ii, iii  e. tpil njhpatpy;iy 

 

27. Consider the following statements. 
I. The characteristics which a good tax should possess are described as 

canons of taxation. 
II. According to Adam Smith, there are four canons of taxation. 
a. I, II are correct  b. I is correct   c. II is correct  
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. xU ey;y tupapy; ,Uf;f Ntz;ba mk;rq;fs; kw;Wk; jd;ikfs; Gdpj 

tpjpfs; vdg;gLfpd;wJ. 
II. Mlk;];kpj; fUj;Jg;gb ehd;F Gdpj tpjpfs; cs;sd. 
a. I, II rup b. I rup c. II rup d. I, II jtW e. tpil njhpatpy;iy 

 

28. What is canon of economy? 
a. The imposition of taxes should be based on the ability of the tax payer. 
b. No uncertainty regarding the rate of tax or the time of payment. 
c. The method of tax collection and the timing of the tax payment should 

suit the convenience of tax payer. 
d. The money spending for collecting taxes by the government. 
e. Answer not known 
rpf;fd tpjp vd;gJ? 
a. kf;fspd; tup nrYj;Jk; jpwDf;F Vw;g murpd; tuptpjpg;G  
b. tuptPjk; my;yJ nrYj;Jk; fhyk; Fwpj;J epr;rakw;w jd;ik ,y;yhj 

tifapyhd tuptpjpg;G. 
c. tupt#ypf;Fk; Kiw kw;Wk; tup nrYj;Jk; fhyk; kf;fspd; trjpf;Nfw;g 

miktJ 
d. tupfis t#ypg;gjw;fhd murpd; nryT. 
e. tpil njhpatpy;iy 
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29. Consider the following statements. 
I. In metallic standard some kind of metal either gold or silver is used 

to determine the standard value of the money and currency. 
II. Under gold standard, The purchasing power of a unit of money is 

maintained equal to the value of a fixed weight of gold. 
a. I, II are correct  b. I is correct   c. II is correct  
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. cNyhfj;jpl;lj;jpy; jq;fk;> nts;sp Nghd;w VjhtJ xU cNyhfk; 

gzj;jpd; jpl;l kjpg;gpid epu;zapf;fg; gad;gLj;jg;gl;lJ. 
II. nghd;jpl;lj;jpd; fPo; xU gz myfpd; thq;Fjpwd; xU Fwpg;gpl;l 

vilapyhd nghd; mstpdhy; tiuaWf;fg;gl;bUf;fpwJ 
a. I, II rup    b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 
 

30. The radius of a cart wheel is 35cm. How many revolution does it make in 
travelling a distance of 154 m     

 khl;L tz;br; rf;fuj;jpd; Muk; 35 nr.kP mJ 154 kP njhiyT  fle;jhy;> 
 mr;rf;fuk; vj;jid KOr;Rw;Wfs; Rw;wpapUf;Fk;? 
 a. 70  b. 189  c. 119 d. 86  e. Answer not known 

 
31. How the Valluvar specifies the place of gambling? 

a. kavaru b. kazhagam c. kavadi  d. netham  e. answer not known 
#jhLk; ,lj;ij jpUts;Sth; vt;thW Fwpg;gpLfpwhh;?  
a. ftW  b. fofk; c. ftb d. nej;jk;  e. tpil njhpatpy;iy  
 

32. Choose incorrect statement 
1. Hamas attacked Israel on Oct 7, 2023 
2. October 7, 2023 – Yom Kippur Festival 
3. Yom Kippur is the holiest day for Jewish 

 a. 1, 2 b. 1, 2, 3 c. 2, 3 d. None of these   e. Answer not known 
 jtwhd $w;Wfis fz;lwpf 

1. mf;Nlhgu; 7> 2023 md;W `kh]; ,];Nuiy jhf;fpaJ 
2. mf;Nlhgh; 7> 2023 – Nahk; fpg;g+h; tpoh 
3. Nahk; fpg;G+u; A+ju;fSf;F kpfTk; Gdpjkhd ehs; 

 a. 1, 2 b. 1, 2, 3 c. 2, 3 d. ,it VJkpy;iy e. tpil njhpatpy;iy 
 

33. Consider the following statements and the correct answer. 
i. The plastic money aims at removing the need for carrying cash to 

make transactions. 
ii. Plastic money is an alternative to the cash or the standard money. 
iii. The crypto currency system is operating under the control of a central 

bank. 
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a. i and ii    b. i and iii    c. ii and iii   
d. all the above   e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. guptu;j;jidf;fhf nuhf;fg; gzk; ifapy; nfhz;L tUtij 

jtpu;g;gJjhd; nefpopg; gzj;jpd; Kf;fpa Nehf;fk;. 
ii. nefpopg;gzk; eilKiwapYs;s fhfpjg; gzj;jpw;F xU khw;whFk;. 
iii. nka;epfu; gzk; ika tq;fpapd; fl;Lg;ghl;by; nray;gLfpd;wJ. 
a. i kw;Wk; ii   b. i kw;Wk; iii   c. ii kw;Wk; iii  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
34. Choose the correct statements. 

i. In India, currency notes are issued by the Reserve Bank of India. 
ii. RBI publishes information for three alternative measures of money 

supply. 
iii. The coins are issued by the Ministry of Finance, Government of India. 
a. i and ii    b. ii and iii    c. i and iii   
d. i, ii and iii   e. Answer not known 
rupahd $w;wpidj; Nju;e;njL> 
I. ,e;jpahtpy; fhfpjg; gzj;ij upru;t; tq;fp ntspapLfpwJ. 
II. ,e;jpa upru;t; tq;fp khw;W gz mspg;gpy; %d;W tifapyhd 

mstPLfis nra;fpd;wJ. 
III. ,e;jpahtpy; ehzaq;fs; kj;jpa murpd; epjpj;Jiwapdhy; 

ntspaplg;gLfpd;wJ. 
a. i kw;Wk; ii   b. ii kw;Wk; iii   c. i kw;Wk; iii  
d. i, ii kw;Wk; iii   e. tpil njhpatpy;iy 

 

35. Which of the following statement is/are incorrect? 
i. The currency notes are also called as legal tenders. 
ii. M1 and M2 money are known as broad money. 
iii. M3 and M4 money are known as narrow money. 
a. i and ii   b. ii and iii    c. ii only   
d. iii only   e. Answer not known 
gpd;tUtdtw;Ws; jtwhdf; $w;wpidj; Nju;e;njL. 
i. fhfpjg;gzq;fs; mjpfhuk; ngw;w rl;lG+u;tkhd nryhtzp vd;Wk; 

miof;fg;gLfpd;wd 
ii. M1 kw;Wk; M2 gzk; gue;jepiyg; gzk; vd;wiof;fg;gLfpwJ. 
iii. M3 kw;Wk; M4 gzk; FWfpa gzk; vd;wiof;fg;gLfpwJ. 
a. i kw;Wk; ii  b. ii kw;Wk; iii   c. ii kl;Lk;   
d. iii kl;Lk;   e. tpil njhpatpy;iy 

 

36. Consider the following statements 
I. Banking sector acts as the backbone of modern business world. 
II. The Kicks bank of Swedan is the oldest central bank in the world. 
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a. I only correct    b. II only correct  c. Both are correct   
d. Both are incorrect   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. etPd thzpgj;jpd; KJnfYk;ghf tq;fpj;Jiw nray;gLfpwJ. 
II. cyfpd; Kjy; ika tq;fp ];tPld; ehl;L upf;];tq;fp  
a. I rup    b. II rup   c. ,uz;Lk; rup   
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
37. Which of the following is wrongly matched? 

i. Bank of Bengal  - 1809 
ii. Bank of Madras   - 1843 
iii. Bank of Bombay  - 1840 
a. i only    b. ii and iii only   c. ii only  
d. none    e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait? 
i. tq;fhs tq;fp  - 1809 
ii. nrd;id tq;fp  - 1843 
iii. Kk;ig tq;fp  - 1840 
a. i kl;Lk;    b. ii kw;Wk; iii kl;Lk;   c. ii kl;Lk;  
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
38. Choose the correct statements.  

i. Headquarters of RBI moved from Calcutta to Mumbai in 1937. 
ii. CD Deshmuk was the First Governor of RBI.  
iii. RBI also called  "Lender of Last Resort". 
 a. i, ii, iii  b. i, ii c. i, iii d. ii, iii  e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. 1937-y; RBI -,d; jiyikafk; fy;fj;jhtpypUe;J Kk;igf;F 

khw;wg;gl;lJ. 
ii. RBI-d; Kjy; ftu;du; CD Nj~;Kf;. 
iii. RBI fil epiyf;fld; <Nthd; vd;Wk; miof;fg;gLfpd;wJ. 
a. i, ii, iii  b. i, ii c. i, iii d. ii, iii  e. tpil njhpatpy;iy 

 
39. Choose correct pair/s regarding EU Sakharov Human Rights Prize 

1. 2023 – Masha Amini  2. 2013 – Malala Yousafzai 
a. 1 only   b. 2 only    c. Both 1 and 2 
d. Neither 1 nor 2 e. Answer not known 
EU Sakharov kdpj cupikfs; gupR njhlu;ghd rupahd ,iziaj; Njh;f 
1. 2023 – kh~h mkpdp  2. 2013 – kyhyh a+~/gha; 

 a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
 d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
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40. Most Anthropologist believe that humans first appeared in the __________ 
a. Great Rift Valley of East   b. River banks on Nile  
c. Indus river valley   d. Yangtze Kiang river valley 
e. Answer not known 
kdpju;fs; Kjypy; Njhd;wpa ,lk; vd;W khDltpayhsu;fs; ek;GtJ _____ 
a. Mg;gpupf;fhtpd; ngUk; gpsTg; gs;sj;jhf;F  
b. iey; ejpf;fiu 
c. rpe;J ejpg; gs;sj;jhf;F      
d. ahq;rp fpahq; Mw;Wg; gs;sj;jhf;F. 
e. tpil njhpatpy;iy 

 
41. Which of the following is/are incorrect statements 

i. The Blue Nile and White Nile meets at Khartoum in Sudan  
ii. In India, Allahabad is located at the confluence of River Ganga and 

Yamuna.  
a. i, ii    b. i only    c. ii only   
d. none    e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
i. #lhd; ehl;by; ePy kw;Wk; nts;is iey; ejpfs; re;jpf;Fkplk; 

fhu;l;^k;. 
ii. ,e;jpahtpy; fq;ifAk;> aKidAk; $Lkplj;jpy; myfhghj; 

mike;Js;sJ. 
a. i, ii    b. i kl;Lk;    c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
42. Choose the correct statements: 

i. In recent revelation of the study conducted by Oxford Economics 
marked several Indian cities in top ten categories of fastest, growing 
cities of the world.  

ii. Ecumenopolis is a single city encompassing the whole world that is 
held to be a possibility of the future.  

a. i, ii   b. i only    c. ii only   
d. none   e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. Mf;];Nghu;L nghUshjhuk; elj;jpa mz;ikf;fhy Ma;TfspypUe;J 

cyfpd; kpf Ntfkhf tsu;e;JtUk; khefuq;fspy; ,e;jpa khefuq;fs; 
Kjy; 10 ,lq;fisg;gpbj;Js;sJ. 

ii. ,FkpNdh Nghyp]; vd;gJ cyfk; KOikAk; jd;Ds; mlf;fpa xNu 
khefuk;> vjpu;fhyj;jpy; ,J Vw;gl tha;g;Gs;sJ.  

a. i, ii   b. i kl;Lk;    c. ii kl;Lk;   
d. VJkpy;iy e. tpil njhpatpy;iy 
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43. Which of the following is/are incorrectly matched? 
i. Cultural Towns  - Madurai and Varanasi  
ii. Recreational Towns - Agra and Lahore  
iii. Industrial Towns - Pittsburgh, Jamshedpur  
a. i, ii   b. ii only    c. i only   
d. none  e. Answer not known 
gpd;tUtdtw;Ws; jtwhf nghUe;jpait vit? 
i. fyhr;rhu efuq;fs;  - kJiu kw;Wk; thuzhrp 
ii. nghOJNghf;F efuq;fs; - Mf;uh kw;Wk; yh$u; 
iii. njhopy;Jiw efuq;fs; - gpl;];gu;f;> [hk;n~l;G+u; 
a. i, ii   b. ii kl;Lk;    c. i kl;Lk;   
d. VJkpy;iy e. tpil njhpatpy;iy 

 
44. A human settlement may consists of a few dwelling units called 

a. Urban cities   b. Camps    c. Sites   
d. Hamlets   e. Answer not known 
rpy trpg;gplq;fisf; nfhz;l xU kdpj FbNaw;wj;ij vt;thW 
miof;fyhk;?  
a. efuq;fs;    b. Kfhk;fs;    c. miktplq;fs;  
d. Ff;fpuhkq;fs;   e. tpil njhpatpy;iy 

 
45. The base of the parallelogram is thrice its height. If the area is 192 sq.cm, 

find the height.  
Xh; ,izf;fuj;jpd; mbg;gf;fkhdJ mjd; cauj;ijg; Nghy %d;W 
klq;fhfTk; mjd; gug;gsT 192 r.nr.kP MfTk; ,Ug;gpd;> cauj;ij 
fhz;f.  
a. 5 cm  b. 10 cm  c. 8 cm d. 11 cm e. Answer not known 

 

46. Which of the following is the example of Bridging points? 
a. Paris, France   b. Notre Dame cathedral 
c. Bhavani, Tamilnadu d. Khartoum, Sudan 
e. Answer not known 
gpd;tUtdtw;Ws; vJ ,izg;G Gs;spfSf;F vLj;Jf;fhl;L?  
a. ghhp];> gpuhd;];  b. Nehl;Nu Nlk; fjPl;uy;  
c. gthdp> jkpo;ehL  d. fhh;^k;> #lhd; 
e. tpil njhpatpy;iy 

 

47. In excessive or deficient which one of the following may cause disease?  
a. flatulence   b. biliousness   c. phlegm 
d. all of these   e. Answer not known 
vit kpFe;jhYk; Fiwe;jhYk; Nehia cz;lhf;Fk;? 
a. thjk;     b. gpj;jk;    c. rpNyj;jkk; 
d. ,it midj;Jk;   e. tpil njhpatpy;iy 
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48. Choose correct pair regarding Nobel Prize 2023 
1. Medicine – mRNA vaccine 
2. Economic – Gender Gap at Workplace 
3. Physics – Quantum Dots 
4. Chemistry – Attosecond 
a. 1 pair   b. 2 pairs    c. 3 pairs 
d. 4 pairs   e. Answer not known 
Nehgy; ghpR 2023 Fwpj;j rhpahd ,izfis Njh;f 
1. kUj;Jtk; - mRNA jLg;g+rp 
2. nghUshjhuk; - gzpaplj;jpy; ghypd ,ilntsp 
3. ,aw;gpay;  - Fthz;lk; Gs;spfs; 
4. Ntjpapay; - Ml;Nlhnrfd;L 
a. 1 ,iz  b. 2 ,izfs;   c. 3 ,izfs; 
d. 4 ,izfs;  e. tpil njhpatpy;iy 

 

49. Consider the following statements: 
I. Kraal is a group of houses surroundings an enclosure for livestock 
II. The term conurbation was coined by Jean Guttmann in 1915. 
III. In India, Hyderabad and Cochin are the examples of conurbation 

cities. 
a. I, II and III correct   b. I, II correct    c. II, III incorrect  
d. I, III correct    e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. fhy;eilfis milj;J itf;Fk; ,lq;fisr; Rw;wp mike;jpUf;Fk; 

tPLfspd; njhFg;G f;uhy; (Kraal) vdg;gLfpd;wJ. 
II. ,ize;j efuk; vd;w nrhy; 1915-,y; [Pd; fhl;kNd vd;gtuhy; 

cUthf;fg;;gl;lJ. 
III. ,e;jpahtpy; i`juhghj; kw;Wk; nfhr;rpd; ,ize;j efuq;fSf;F 

vLj;Jf;fhl;LfshFk; 
a. I, II kw;Wk; III rup  b. I, II rup    c. II, III jtW  
d. I, III rup    e. tpil njhpatpy;iy 

 

50. Which of the following is/are incorrectly matched? 
i. Exhaustible resources - Coal, oil and Minerals  
ii. Developed resources   - Petroleum  
iii. Biotic resources   - Air, land and water  
a. i, ii   b. ii only    c. iii only   
d. none   e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 
i. GJg;gpf;f ,ayh tsq;fs; - epyf;fup> vz;nza; kw;Wk; fdpkq;fs; 
ii. Nkk;gLj;jg;gl;l tsq;fs; - ngl;Nuhypak; 
iii. tsh;r;rp mile;j tsq;fs; - fhw;W> epyk; kw;Wk; ePu; 
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a. i, ii   b. ii kl;Lk;    c. iii kl;Lk;   
d. VJkpy;iy e. tpil njhpatpy;iy 

 
51. Which of the following is/are non-ferrous minerals? 

i) Manganese   ii) Bauxite   iii) Tin  iv) Cobalt 
a. i, ii  b. ii, iii c. i, iv  d. ii only  e. Answer not known 
gpd;tUtdtw;Ws; ,Uk;G mw;w fdpkq;fs; vit? 
i) khq;fdP]; ii) ghf;i]l; iii) nts;sPak;  iv) Nfhghy;l; 
a. i, ii  b. ii, iii c. i, iv  d. ii kl;Lk;  e. tpil njhpatpy;iy 

 

52. Choose the correctly matched regarding the mode of occurrence of 
minerals 
i. Horizontal layers  - Coal, Potash 
ii. Residual Mass  - Petroleum 
iii. Placer Deposits   - Gold, Silver and Platinum 
a. i, ii and iii   b. i and ii    c. i and iii   
d. ii and iii    e. Answer not known 
gpd;tUtdtw;Ws; fdpkq;fs; Vw;gLk; Kiw Fwpj;J rupahf nghUe;jpait 
vit? 
i. fpilkl;l mLf;F    - epyf;fup> nghl;lh~; 
ii. rpijtile;j vQ;rpa Jfs;fs;  - ngl;Nuhypak; 
iii. gpNsru; gbTfs;    - jq;fk;> nts;sp kw;Wk; gpshl;bdk; 
a. i, ii kw;Wk; iii   b. i kw;Wk; ii   c. i kw;Wk; iii  
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 

53. Match the following: 
Iron Ore     Pure Iron Content 
A. Magnetite    1. 72% 
B. Hematite    2. 50% 
C. Limonite    3. 70% 
D. Siderite    4. 30% 
nghUj;Jf. 
,Uk;gpd; jhJf;fs;  J}a ,Uk;gpd; msT 
A. Nkf;dill;   1. 72% 
B. N`kill;   2. 50% 
C. ypNkhidl;   3. 70% 
D. rpliul;    4. 30% 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 3 1 2 4 
d. 3 1 4 2  e. tpil njhpatpy;iy 
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54. The iron ore fields in India includes  
i. Baster region  ii. Chitradurg 
iii. Kudremukh  iv. Mayurbbanj region 
a. i, ii, iv b. ii, iii c. ii, iii, iv d. all the above  e. Answer not known 
,e;jpahtpd; ,Uk;Gj;jhJ tay;fs;. 
i. g];jhu; gFjp  ii. rpj;uhJu;f; 
iii. FjpiuKf;  iv. kAu;gQ;r; gFjp 
a. i, ii, iv b. ii, iii c. ii, iii, iv d. ,it midj;Jk; e. tpil njhpatpy;iy 

 
55. Choose incorrect pair regarding UN Year 

a. 2010 – Biodiversity  b. 2011 – Soil  c. 1974 – Population 
d. 1999 – Oder persons e. Answer not known 
UN Mz;L njhlh;ghd jtwhd ,iziaf; fhz;f 
a. 2010 – gy;Yaph; ngUf;fk;  b. 2011 – kz;  
c. 1974 – kf;fs;njhif  d. 1999 – KjpNahh;fs;   
e. tpil njhpatpy;iy 

 
56. Choose the correct statements: 

i. South Africa is the largest producer of manganese in the world 
ii. India is the 9th largest producer of manganese in the world  
iii. China possesses the largest reserves of manganese in the world  
a. i, ii, iii b. i, ii c. i only d. ii, iii e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. cyfstpy; khq;fdP]; cw;gj;jpapy; kpfg;ngupa ehL njd;Mg;gpupf;fh. 
ii. cyfstpy; ,e;jpah khq;fdP]; cw;gj;jpapy; xd;gjhtJ ngupa ehlhf 

cs;sJ. 
iii. rPdh cyfstpy; kpfg;ngupa khq;fdPR jhJ ,Ug;igf; nfhz;Ls;sJ. 
a. i, ii, iii   b. i, ii    c. i kl;Lk;   
d. ii, iii   e. tpil njhpatpy;iy 

 
57. Consider the following statements: 

I. Cuprite yields nearly 76% of the world production of copper  
II. Copper was discovered in the earliest stage of civilization 
III. Copper is one of the first metals known and used by man 
a. I, II and III correct   b. I and II correct  c. II and III correct   
d. I and III correct   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. Fg;iul; jhJ jhkpuj;jpd; 76% cw;gj;jpiaf; nfhLf;fpwJ. 
II. jhkpuk; ehfupfj;jpd; Muk;gf; fl;lj;jpy; fz;Lgpbf;fg;gl;lJ. 
III. kdpjd; mwpe;j kw;Wk; gad;gLj;jpa Kjy; cNyhfq;fspy; jhkpuKk; 

xd;W. 
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a. I, II kw;Wk; III rup  b. I kw;Wk; II rup  c. II kw;Wk; III rup   
d. I kw;Wk; III rup   e. tpil njhpatpy;iy 

 
58. Choose the correct statements 

i. The world’s greatest bauxite producers and exporters are the 
countries located in the tropical and subtropical region.  

ii. India is the 3rd largest producer of bauxite in the world 
a. i, ii    b. i only    c. ii only   
d. none    e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. cyfpd; kpfg;ngupa ghf;irl; cw;gj;jpahsu;fs; kw;Wk; 

Vw;Wkjpahsu;fs; ntg;gkz;ly kw;Wk; Jizntg;g kz;ly gFjpapy; 
cs;s ehLfs;. 

ii. cyfstpy; ghf;irl; cw;gj;jpapy; ,e;jpah 3-tJ ngupa ehL. 
a. i, ii    b. i kl;Lk;    c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
59. Arrange the following in descending order based on their ranking in gold 

production? 
i. Russia   ii. United States   iii. China  
iv. Canada  v. Australia  
a. v, iv, iii, i, ii  b. iii, v, i, ii, iv   c. iii, i, v, iv, ii   
d. v, iii, i, ii, iv  e. Answer not known 
gpd;tUk; ehLfis jq;fk; cw;gj;jpapd; mbg;gilapy; ,wq;Ftupirapy; 
vOJ. 
i. u~;ah  ii. mnkupf;fh   iii. rPdh 
iv. fdlh  v. M];jpNuypah 
a. v, iv, iii, i, ii  b. iii, v, i, ii, iv   c. iii, i, v, iv, ii   
d. v, iii, i, ii, iv  e. tpil njhpatpy;iy 

 
60. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the 

same diameter and same height is  
xNu msTtpl;lKk;> cauKk; cila cUis> $k;G kw;Wk; Nfhsj;jpd; 
fd mstpd; tpfpjk;  
a. 1:2:3   b. 2:1:3  1:3:2   d. 3:1:2 e. Answer not known 

 

61. The fool’s gold refers to pyrite of ___________ 
a. Iron Oxide    b. Iron Sulphide   c. Aluminium Oxide 
d. Aluminium Sulphide e. Answer not known 
Kl;lhs;fspd; jq;fk; vd;W miof;fg;gLtJ ____ d; igiul; 
a. ,Uk;G Mf;i]L  b. ,Uk;G ry;/igL c. mYkpdpak; Mf;i]L 
d. mYkpdpak; ry;/igL e. tpil njhpatpy;iy 
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62. Consider the following statements: 
Assertion (A): The natural gas is considered as an environment friendly 
fuel. 
Reason (R): The natural gas emits low carbon dioxide  
a. Both A and R are true and R is the correct explanation of A  
b. A is true but R is false  
c. A is false but R is true 
d. Both A and R are true and R is not the correct explanation of A 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): ,aw;if vupthA Rw;Wr;#oYf;F cfe;j vuprf;jpahf 
fUjg;gLfpwJ 
fhuzk; (R): ,aw;if vupthA Fiwthd fupakpy thAit ntspapLfpd;wJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
63. Which among the following is/are associated with Micro credit? 

i. Mohammad Younis ii. Mahalir Thittam iii. Pudhu Vazhvu Project 
a. ii, iii b. i, ii c. i, iii d. i, ii, iii  e. Answer not known 
gpd;tUtdtw;Ws; FWepjpAld; njhlh;GilaJ vJ? 
i. Kfk;kJ a+dp];  ii. kfsph; jpl;lk;  iii. GJtho;T jpl;lk; 
a. ii, iii b. i, ii c. i, iii d. i, ii, iii  e. tpil njhpatpy;iy 

 
64. According to Valluvar, when the body does not need medicine? 

a. when eating delicious food  
b. when eating nectar  
c. when eating food after digesting pre-eaten food 
d. when eating a balanced diet 
e. answer not known 
vg;nghOJ clk;gpw;F kUe;J Ntz;bajpy;iy vd;W jpUts;Sth; 
$Wfpd;whh;?  
a. mWRit czit cz;Zk;nghOJ  
b. mkph;jj;ij cz;Zk;nghOJ  
c. Kd; cz;l czT> nrhpj;jgpd; czT cz;Zk; nghOJ  
d. rhptpfpj czit cz;Zk; nghOJ  
e. tpil njhpatpy;iy 
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65. Consider the following statements: 
I. In subsistence economy the market competition is the primary force 

determining the production and distributions. 
II. The tertiary economic activities divided into Quaternary and Quinary 

activities. 
a. I, II correct   b. I only correct    c. II only correct   
d. I, II incorrect  e. Answer not known 
gpd;tUtdtw;iw ftdpf;fTk;. 
I. jd;dpiwT nghUshjhuj;jpy; nghUl;fspd; cw;gj;jp kw;Wk; toq;fiy 

re;ijapy; fhzg;gLk; Nghl;bNa eph;zapf;fpwJ 
II. %d;whk; epiyj; njhopy; NkYk; ,U cl;gphpthf> ehd;fhk; kw;Wk; 

Ie;jhk; epiy njhopy; vd gphpf;fg;gl;Ls;sJ. 
a. I, II rhp   b. I kl;Lk; rhp   c. II kl;Lk; rhp   
d. I, II jtW  e. tpil njhpatpy;iy 

 
66. Choose the incorrect statements: 

i. Commercial Livestock rearing is more organised and capital 
intensive activity in comparison with the Nomadic Pastoralism.  

ii. Commercial Livestock Rearing is generally practised in temporary 
ranches.  

a. i and ii    b. i only    c. ii only   
d. none     e. Answer not known 
jtwhd $w;iw fz;lwpf. 
i. ehNlhbfspd; fhy;eil tsh;g;igf; fhl;bYk;> tzpf hPjpahd fhy;eil 

ts;g;ghdJ kpfTk; xOq;fikf;fg;gl;lJ mjpf Kjy; Njitg;gLtJk; 
MFk;. 

ii. tzpfhPjpahd fhy;eil tsh;g;G nghJthf jw;fhypf gz;izapy; 
eilKiwapy; cs;sJ. 

a. i, ii  b. i kl;Lk; c. ii kl;Lk; d. vJTkpy;iy   e. tpil njhpatpy;iy 
 
67. Match the following: 

Economic Activity  Name 
A. Primary   - 1. Blue Collar  
B. Secondary   - 2. Red Collar  
C. Tertiary   - 3. White Collar 
D. Quaternary   - 4. Pink Collar  
E. Quinary  - 5. Gold Collar  
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 4 1 3 5 
d. 1 2 4 3 5  e. Answer not known 
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nghUj;Jf. 
nghUshjhu eltbf;iffs;   ngah; 
A. Kjy; epiy njhopy;  1. ePy fOj;Jg;gl;il 
B. ,uz;lhk; epiy njhopy;  2. rpfg;G fOj;Jg;gl;il 
C. %d;whk; epiy njhopy;  3. nts;is fOj;Jg;gl;il 
D. ehd;fhk; epiy njhopy;  4. ,sQ;rptg;G fOj;Jg;gl;il 
E. Ie;jhk; epiy njhopy;  5. jq;f fOj;Jg;gl;il 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 4 1 3 5 
d. 1 2 4 3 5 
e. tpil njhpatpy;iy 

 
68. Match the following: 

Shifting Cultivation   Region 
A. Konuko   1. Congo 
B. Milpa    2. Central America and Mexico 
C. Roca    3. Venezula 
D. Masole    4. Brazil  
 A B C D 
a. 1 3 2 4 
b. 3 2 4 1  
c. 2 4 3 1  
d. 4 2 3 1 
e. Answer not known 
nghUj;Jf. 
,lk;ngaUk; Ntshz;ik gFjp 
A. nfhDNfh   1. fhq;Nfh 
B. kpy;gh    2. kj;jpa mnkhpf;fh kw;Wk; nkf;]pf;Nfh 
C. Nuhf;fh    3. ntdpRyh 
D. kNrhy;    4. gpNurpy; 
 A B C D 
a. 1 3 2 4 
b. 3 2 4 1  
c. 2 4 3 1  
d. 4 2 3 1 
e. tpil njhpatpy;iy 

 
69. Which of the following kind of farming practiced in the regions where the 

size of the land holding is very large? 
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a. Subsistence Agriculture   b. Intensive Agriculture  
c. Extensive farming    d. Mixed farming  
e. Answer not known 
gpd;tUtdtw;Ws; ve;j tifahd Ntshz;ik> rhFgb epy msT 
mjpfkhf itj;jpUg;gth;fsplk; eilKiwapy; cs;sJ? 
a. jd;dpiwT Ntshz;ik  b. jPtpu Ntshz;ik 
c. gue;j Ntshz;ik   d. fyg;G Ntshz;ik 
e. tpil njhpatpy;iy 

 
70. Choose the incorrectly matched pairs 

i. Pomology - Study of crop circles  
ii. Olericulture  - Science of Vegetable growing  
iii. Floriculture  - Cultivation of flowers  
iv. Sericulture  - Rearing of Silkworms  
a. i and ii   b. i only    c. ii only   
d. none   e. Answer not known 
nghUj;jkw;w ,iziaj; Njh;T nra;f. 
i. Nghkhy[p   - gaph; tl;l Ma;T 
ii. xyhp fy;r;rh;   - fha;fwp tsh;g;G gw;wpa mwptpay; 
iii. /GNshhp fy;r;rh;  - G+f;fs; tsh;f;Fk; fiy 
iv. nrhp fy;r;rh;   - gl;Lg;GO tsh;j;jy; 
a. i kw;Wk; ii  b. i kl;Lk;    c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

71. Find correct pair 
i. OSIRIS – REX – NASA – ASTEROID 
ii. Perseverance – NASA – MARS 
iii. DART – JAXA – ASTEROID 
iv. ARTEMIS – NASA – MOON 

a. i, ii, iv   b. ii, iii, iv    c. i, ii, iii 
d. All of these  e. Answer not known 
rhpahd ,iziaf; fhz;f 

i. OSIRIS – REX – NASA – FWq;Nfhs;  
ii. Perseverance – NASA – nrt;tha; 
iii. DART – JAXA – FWq;Nfhs; 
iv. ARTEMIS – NASA – epyT 

a. i, ii, iv   b. ii, iii, iv    c. i, ii, iii 
d. ,it midj;Jk; e. tpil njhpatpy;iy 
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72. Consider the following: 
Assertion (A): The secondary sector consists of manufacturing and 
industrial activities. 
Reason (R): Secondary sector transforms the raw materials obtained from 
the primary sector into consumer goods. 
a. Both A and R are true and R is the correct explanation of A  
b. A is true but R is false  
c. A is false but R is true  
d. Both A and R are true and R is not the correct explanation of A 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): cw;gj;jp (k) njhopy;Jiw eltbf;iffs; ,uz;lhk; epiyj; 
njhopypy; mlq;Fk;. 
fhuzk; (R): ,uz;lhk; epiyj; njhopy; vd;gJ %yg;nghUl;fis 
Efh;Nthh; nghUl;fshf khw;WtJ MFk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
73. The indicators used to calculate Global Hunger Index are 

1. Undernourishment – Both children and Adult 
2. Child stunting 
3. Child Wasting 
4. Child Mortality  
a. ii, iii, iv   b. i, ii, ii    c. ii, iii 
d. All of these  e. Answer not known 
cyfshtpa gl;bdpf; FwpaPl;ilf; fzf;fplg; gad;gLj;jg;gLk; Fwpfhl;bfs; 
1. Cl;lr;rj;J FiwghL – Foe;ijfs; kw;Wk; nghpath;fs; ,UtUk; 
2. tsh;r;rp Fd;wpa Foe;ij 
3. Foe;ij vilf;FiwT 
4. Foe;ij ,wg;G 
a. ii, iii, iv   b. i, ii, ii    c. ii, iii 
d. ,it midj;Jk; e. tpil njhpatpy;iy 

 

74. Chapter number of Nobility is _________ 
a.  94  b. 95  c. 96  d. 97  e. Answer not known 
Fbik mjpfhu vz; _______ 
a.  94  b. 95  c. 96  d. 97  e. tpil njhpatpy;iy 
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75. A sector containing an angle of 120o is cut off from a circle of radius 21 cm 
and folded into a cone. Find the curved surface area of the cone. (Take = 

22

7
 = ) 

a. 442 cm2    b. 462 cm2    c. 362 cm2   
d. 262 cm2   e. Answer not known  

21 nr.kP MuKs;s xU tl;lj;jpypUe;J 120 ikaf; Nfhzk; nfhz;l xU 
tl;lf; Nfhzg;gFjpia ntl;bnaLj;J> mjd; Muq;fis xd;wpizj;J xU 

$k;ghf;fpdhy;> fpilf;Fk; $k;gpd; tisgug;igf; fhz;f ( 22

7
 = ). 

a. 442 nr.kP 2   b. 462 nr.kP 2   c. 362 nr.kP 2 
d. 262 nr.kP 2  e. tpil njhpatpy;iy 
 

 

 
  
 

 

 

 

 

 


